LESSON PRACTICE

Follow the directions to find the number of coins,

There are 20 coins made up of nickels and dimes. The total value is $1.75,

1. Write two equations, one for the number of coins and one
for the value.

2. How many nickels are there?

3. How many dimes are there?

There are 39 coins made up of pennies and dimes. The total value is $1.83,

4. Write two equations, one for

the number of coins and one
for the value.

5. How many pennies are there?

6. How many dimes are there?

ALGEBRA 1 LESSON PRACTICE 168 195



LESSON PRACTICE 168

There are 19 coins made up of nickels and dimes. The total value is §1.25.

7. Write two equations, one for
for the value.

the number of coins and one

8. How many nickels are there?

9. How many dimes are there?

There are 40 coins made up of quarters and nickels. The total value is $S.00.

10. Write two equations, one fi

or the number of coins and one
for the value.

11. How many quarters are there?

12. How many nickels are there?
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SYSTEMATIC REVIEW

For #1-3 There are 12 coins made up of nickels and dimes.
The total value is $.85.

1. Write the two equations, one for the number of coins and one for the value.

2. There are dimes.

3. There are nickels. Check your answers.

For #4-6 There are 10 coins made up of pennies and nickels.
The total value is $.38.
4. Write the two equations, one for the number of coins and one for the valye.

5. There are pennies.

6. There are nickels. Check your answers.

For #7-8 3Y—4X=2andY—2X=—6

Y
7. Use the elimination method to find Y. | 7‘_j b _T |8 I
8. Use the solution to #7 to find X. i e S K I N N N O Y
< T ] ,%IX

9. Find the equation of a line through I B e e W
(4, 5) and (=3,-2). Craph the line. T e it S S S ) N O O O

10. Write the equation of a line through ‘S R e e = —*tf‘—f T ]
(1, -2) and parallel to the line in #9. —— L ¥ | 1 | | | |

Graph the line.

11. Write the equation of a line through (1, -2) and perpendicular to the
line in #9. Graph the line.
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12.

13.

14.

15.

16.

1 Z.

19.

198

When first observed, the vine was 24 inches long. Thereafter it grew at a
length of two feet per week. Write an equation describing the growth of
the vine where X is the number of weeks and Y is the total length.

(Warning: Be sure your units of measure are the same.)

Using your equation from #12, find the length of the vine after
three weeks.

With the application of fertilizer, the vine will grow three feet per week.
Find its length after nine weeks.

BES)%2-7=3=3%=

In what quadrant is the point (6, -7)?

Is subtraction commutative? 18. Is multiplication commutative?
132 = 20. / 64 =
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SYSTEMATIC REVIEW
For #1-3  There are nine coins made up of nickels and dimes.
The total value is $.60.
1. Write the two equations, one for the number of coins and one for the value.

2. There are dimes.

3. There are nickels. Check your answers.

For #4-6  There are six coins made up of pennies and nickels.
The total value is $.26.

4. Write the two equations, one for the number of coins and one for the value.

5. There are pennies.

6. There are nickels. Check your answers.

For #7-8 Y-3X=-1and 4Y + 3X =-19

7. Use the elimination method to find Y.

8. Use the solution to #7 to find X.

9. Look at line a on the graph and
write an equation for it.

10. Write the equation of a line through -
(2, 2) and parallel to #9. Graph the line.

1. Write the equation of a line through (-2, -6) and perpendicular to #9.
Graph the line.
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